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The value of logg 2 + log, 3 is LN
logg 2 + log, 3 sy, Dewd

(1) o (2) 1 (3) 2 “4) 3 i

&
Exponential form of log,a=c 4;.’
log,a=c Sy Hrd Srdhm SRR d
(1) b%=¢ @) a®=b 3) a®=c¢ (4) b=a

The product of prime factors of 2024 is
2024 &gy, (Herd s Emrosre
(I) 11x23x32 * (2) 23x11x23 (3) 7x23x23 (4) 23 x 112 x22

Which of the following two sets are equal sets?
(Bod Boh HD&OS* A Hard HWen?

(1) A= (5,6}, B={5} (2) 4={5.6), B={5,6,7)
() 4=1{5,6,7}, B={7,5, 6} (4) A=1{5,6,8}, B={5,6, 7}
{0} is a set which has clements.

{0} o35 Droson £0A ab) H8.

(1) 0 @ 1 @4 @) 3

If P(x)=11x" =5x° +4x* ~7x? +6, then the degree of P(x) is

P(x}=11 1x® —5x0 +4x* —7x2 46 wand, P(x) @) sdsrmdny

(1) 8 (2) 6 (3) 4 4) 2

If -1, -2 are two zeros of a polyno:mal 2x7 + ax?® + bx— 2, then the valu
a and b are £

2x> + ax? +bx - =2 o w00 Qg o drargen 1, -2 wad, a Bt b @ngy
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11 If o are the zeros of the polynomial P(,\']=3x2 ~x—4, then B =
P(x)=3x2-x—4 O DIVDD )y drargen o, wond, o-p =
- 4 e 1
L) 2) — — 4) —
(M) 3 @ 3 (35 % :
12 Which of the following equation represent the situation where Kiran bogghl 5 oranges,
7 apples and Harish boughi 2 oranges, 12 apples for same amount of total money?
855 5 srdomen, 7 aXrdd) Wwdar 8% 2 ardomen, 12 axrddy JBIS o8 Aerd8
Fr ). 808 MEGEres® SDHowrd) Ardod HEsm I6?
(1) Sx+12y=2x+7y H) (2) Sx+7y=2x+12y
(3) Sx-7y=2x-12y (4) Sx+2y=Tx+12y
2 3 - 9
13 If =+—7==2 and -=g——==-1, then
FH TR
2 . 3 49
——=+—7==2 Do —=p——=-1 eand,
oy Veay.
(1) x=4,y=3 2) x@2, y=9 3) x=4,y=9 4) x=2,y=3
14  The pair of equations x+y=35 and 2x+2y =4k has infinitely many solutions if k =
X+y=5 Hoaw 2x+2y =fh 0 SDEGTO 8 wHoSDD FEdeD LOA doard ©dS, k =
(1) 4 (2) 6M (3) 8 (4) 10
Q
a, b ¥
15 If ';2-2- ¢g, where ‘"l“‘blg ¢, =0 and a,x+b,yy + ¢, =0 are two linear equations,
then the equations '
(1) have a unique solution (2) have infinitely many solutions
(3) have finite solutions (4) have no solution
a b
';'I"’*“bl ©hgexnrr a]x@y+cl =0 20aw Ay x+byy+ ¢, =0 & Bod 3o
2 2
SEBB, & B Ederen ‘.IJ?)
(1) B8 a5 $On dotranif) (2) ©S08HS Jhen SO dotran
(3) DBLEDH Fesven EON dotran (4) D Fgsen L0 dod)
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16

17

18

19

(1) 20,5 (2) 15D, 10D (3) 20, 15

(1) 32 @) 16 3) 0

The value of p, for which the pair of equations 3x+4y+2= 0 ‘and 9x+ py+8=0
represents parallel lines, is :

3x+4y+2=0 0 Ix+ py+8=0 b shEdare e Sross dpod Ardod,
P wnd

(1) 2 ) 4 3) 6 4) 12

The roots of the quadratic equation x> —4x+4=0 are
2 -4x+4=0 o 5 &G Dareren

(1 4.1 2) 2,2 3) 2,2 (4) 4,2
The sum of the roots of the quadratic equation 3x%—5x+2=0 is

32 —5x42=0 o 58 38w Drere I

m 3 @ 2 ® 2 @ 3

Sum of the areas of two squares is 625 m?. Ifthedxﬂ’erenceofthmrpermaetersmmm,
find the sides of the two squares.

(1) 20m, Sm (2) 15m, 10m (3) 20m. 15m 4) 25m,5m
Both IERe Brrergo Wdin 625 3., T He» Fode Besan 20 H. v, & Bok
Sédre Herod SHF DI,

4) 25,5

The discriminant of the quadratic equation 3x2—2x+-§-=0 is

3x? —2x+%=0 o 55 ShEcmn o8y g

@) 1
WhlchtermoftheAP 20 lB 16

20, 18, 16, roner @
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22  How many, two digit numbers are divisible by 37
3 3 erhosed BodoBe Sopgen I)?
(1) 25 (2) 28 (3) 30 (4) 36
23 Ina G P. the 3 term is 24 and 6% is 192, then the 10" term is
o8 Ho@AS® 3§ aEan 24" HBam 6 H HeSEn 192" wond, 10 S HeSd
(1) 2072 (2) 3072 (3) 1072 (4) 1672
24 The common ratio of G. P. : 25, -5, ],'?I. ......... is
25, -5, 1."?1. s O HBEY By FHrdg RS
-1 1 o 3
1) " - & 2 &)=
(D 5 (2) 3 (3) S 4) 5
25 The distance between the points (xl‘ yt) and (xz. yz) is
(x1-31) ®Baso (x5, 7,) Bocbe Deg drsin SoMESH drigin
2 2 2 ' 2
(1 J(xz“xl] +(»2-n) (2) \/(12”1) +Hra+m)
2 2 2 2
6) Yl -x) ~(2-») @ %) ~(v2+ )
26  The coordinates of the point which divides the line segment joining the points (4, —3)
and (8, 5) in the ratio 3:1 internally is
DochPen (4, -3) oo (8, 5) oB Ik Sprwodiand 3:1 ANBE® wossorr o
DoY) AdrHsren .
() (3,7) (2) (7.3) (3) 1,-3) 4) (-3,-7)
27 The centroid of the triangle with vertices (1, -1), (0, 6) and (-3, 0) is
Docoen (1,-1), (0, 6) Soat (-3, 0) & Igevr Ko (Bedain BwE) HHSE Soin
2.8 -2 =5 (—2 5} [2 -5)
B s SRR T ERT 3 TG N T e
(”(3 3) (2’[3 3) o ER ™ \3s
SPACE FOR ROUGH WORK / Q& 08 Seravoseds dodn
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28  Arca of the triangle formed by the points (-5, -1), (3. -5) and (5. 2) is

(=5, 1), (3, -5) ®daw (5, 2) 6 Dodhrihos* J8yd (dghes Jrogdn
) 32 () 22 (3) 42 (4) 52

29 In AMBC, if.-DE||Bc.-g-"5-=-3‘s- and AB= 5.6 cm, then AD =

A4BC & DE|| BC, =% 00t AB=5.6 Ro.b. waws, AD =

\O
A )
N
D E
™
B c . i

W) e
(1) 2.8 cm (20.) 42) 2.1 cm (o) (3) 3 cm (R0.d)  (4) 24 cm (Ro.D)

30 In AABC, DE||BC.IfAD=x,DB=x-2, AE=x+2 and EC=x~ 1, then the value

of x= S 1 : : _
AABC &* DEllBCSAD=x, DB=x-2, AE'-‘-Tx-I-Z H6ow EC=x-1
x7 Dend .0

AT i N m { L
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32

33

35

A girl of height 90 cm is walking away from the base of a lamp post at a speed of
120 cm / sec. If the lamp post is 360 cm above the ground, then the length of her
shadow after 4 seconds is

90 20.. I Ko o wrdE Siorin 08 Ersium 120 0.0/, Tans* D)6
B%0en A 360 Do, wand, 4 DEod swrd DED © erdE Dd FEH

(1) 90 em (®0.) (2) 120 em (o) (3) 160 cm (Bo.2.) (4) 180 cm (0.2.)

If the ratio of corresponding sides of two similar triangles is 2:3, then the ratio of areas
of these triangles is

Bodh D |Bghere oHErS hHere 3&'\38 2:3 ©on8, & |8ghere Brerge KNS

(1) 2:3 2) V2:48 (3) 4:9 (4) 16 : 81

If ABC is a right triangle right angled at ‘C” and let BC=a, CA=b, AB=c and let p
be the length of perpendicular from C on AB, then

L # ~idag o Lo b
(1) cp=ab e =r—manes 3).a"+b"=p (4) None

pZ 02 bZ
oowt’n |8zbain ABC 6° eoustmin -ﬁg:m ‘C’ ¥ soh. BC=a, CA=b, AB=c
Do ‘C" Dod AB 8 ABS eowdn PEH) p wond

(1) ecp=ab (2) "'1-2-='L2——13 3) a2+b2=p2 (4) 28 =%
Posra b

If the areas of two similar triangles are 81 cm? and 49 cm? respectively. If the altitude
of the smaller triangle is 3.5 cm, then the corresponding altitude of the bigger triangle
is :

(1) 9.5 cm (2) 9 cm (3) 7 ecm (4) 45 cm

Bod 96 (Bghere Barogen 81 5.20.2. HOAK 49 5.20.0. DI) (Bghakns® ADS ooy
TdH 3.5 0.0, @ond, Y (Beheing® ord vErd vovhn PEY .

(1) 9.5 20.%. (2) 9 2o.. (3) 7 %o.2. (4) 4.5 0.2

A tangent to a circle touches it in _ point(s).

(1) one (2) two (3) three (4) infinite

5)e 08 Aoveds 866w oD DochP(e) 3¢ 9))300d.

(1) o8 (2) Bod (3) drd (4) ©dod
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36 There are exactly tangents to a circle through a poih’t’b’mside the Cirdé;f';&

(1) two (2) three (3) infinite (4) None
2)8 eridrgod® o A Doy o H)er8 pySorr $)6 0men
(1) Bodb Q) s (3) wbos (4) 96 s,
37 The length of the tangent from a point 15 cm away from the centre of a cirdlélof ra
9 cm is ; 79
(1) 15 em @) 13 em (3) 11 em (4) 12 ¢m

9 Ro.b. Tggiure Ao )grd8 @rd oo 08 15 To.D. Grdie® a8 Dot Soch.
®and, & DHoth) o8 H)7I8 Aakadd $8)8n TdEH 1

Rl ™M
(1) 15 0.2, (2) 13 o.. (3) 11 20.D. 4) 12 m%
Ty L

[f AP and AQ are the two tangents to a circle with centre ‘0, so that ZP@Q =110°,
then LPAQ = '

(808 2:506° *O” o Ko 5)gd8, AP ©8axw AQ e Dotk $)8;8wen oo
ZPOQ =110° wand, LPAQ =

55603

556037

e @
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40

41

42

I two concentric circles of radii § em and 3 cm are drawn, then the length of the chord
of the larger unh. which touches the smaller circle is
(1) 4 ecm (2) 6 ¢cm (3) 8 cm (4) IU cm

5 o, woam 3 Wo.d. gdronolt Bodb D6 ol sygren Aatugron. wand, 9
D)ED), )0 e Bdn @y ang SdY

(1) 4 ®o.d. (2) 6 To.b. (3) 8 2o.b. (4) 10 %0.2.
Thg.arca of a sector, whose radius is 7 em with the angle 72° is

- )
(u@ n= T)
u@a em? (2) 30.8 cm? (3) 28.8 cm? (4) 57 em?
B)d =g 7 Do, Do WD Bwin 72° wond, BPd Prrogin
(r= £ ST )

o~ 7

(17738 3. %o.2v. (2) 30.8 S 2o, (3) 28.8 S w0 (4) 57 .o

O

If@right circular cylinder has base radius 14 ¢m and height 21 e¢m, then its curved
U 22

surface area is . (use © =—7—)

(1) 924 cm? (2) 2772 ecm? (3) 3080 cm? (4) 1848 cm?
B (5D H)grens Priin By, grargddin 14 0., Hook I 21 Ho.D.

0@‘6. © i HEso Brrogihn (= 272 ©d LT HED)

\O
(10924 S 20>, (2) 2772 S0, (3) 3080 S.20..  (4) 1848 5.0,

Thlpvolumc of a right circular cone with radius 6 cm and height 7 ¢cm is

(use = 3_,3)
(lf:gu cm? 2) 792 cm? (3) 301 cm? 4) 616 cm?
6 Bo.. grrgddin Dot 7 .. I EOAG w8 (6 Symrsd dogniy BnE)
DABDEr B An= % ©d B8 DEn)

Ty

(1) 264 2o (2) 792 2o, (3) 301 w20 (4) 616 D.20.5.

POLYCET-2024—A | 9
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43 If a cylinder and a cone have bases of equal radii and are of equal heights, then

45

47

their volumes are in the ratio of

o8 Jrddn Doa FogoR) JArd grargddind Do JH& D a7 jow.
SE HEBIretvo XS

(1) A5 (4 e (3):3%'1 4)1:4
If two cubes each of volume 64 ¢m? are joined end to end together, then the Su
arca of the resulting cuboid is i

(1) 128 cm? (2) 160 cm? (3) 192 cm? (4) 384 cm®
64 5% o, HSS0ErEEL fo Dot SBBEV BoHe B Hd BHEES
©ond, 6B (B8 Hor8)d Ay toyrdde Brroghn o
(1) 128 S 20,  (2) 160 S.20.. (3) 192 S.20.>. (4) 384 S0,

The value of sin2 15°+ c052 15° is

sr,in2 15°+ c:::)s2 155 SBngy dend

(1) 0 @) 1 @) = ¢yt
2 2

A chord of a circle of radius 4 cm is making an angle 60° at the centre, then the --
of the chord is

(1) 1 cm (2) 2 cm (3) 3 cm

(4) 4 cm .

4 %05, Tggo 8OAY 806" 8 ag oo 365 60° o Fwod. e, © arg FE
(1) 1 0.2 (2) 2 0. (3) 3 0. (4) 4 20.2.
If cosec® +cot ©=k, then the value of cosecO is
cosec B +cot 0=k ®ond, cosecH gy dewd

k% +1 R~} 1
(1) (2) 0 @) sneeerrs 4) —

2 B i
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A+B].

48 If A, B and C are interior angles of triangle ABC, then the value of cos( 5 I8

A, B ®8am C e [Bgheo ABC '3 w086 8ad5, cos(fﬁ—ﬁJ 5208, Dend

’. A-B : Q
: (1) 005[ ) (2) sm[ s BJ (3) sin—C— O (4) cos—-q-
2 2 2 e 2
)
49 The value of cos54° cos36° —sin54°sin36° is
c0s 54° cos36° — sin54° sin36° GwEy, Jewd
[~
oy 2 By
2 < 2
O

’ (1) 0 ) 1
50

A boy observed the top of an electric pole at an angle ﬂf!evalion of 60° when the
l observation point is 6 meters away from the foot of the polé! then the height of the pole is

(1) 6m 2) 642 m (3) 643 m (4) -j—- m
fs 3

| e erends 0.8 DbrgB $oto el grfio b 6 . crGos® By Doy wod Dbgh
| 050 B errrd) 60° agg Bmol’ 5080003, ¢ Hogo I 8

P

'y
(1) 6 . (2) 6v2 B 3) 643 .y @) —% .

51 From a helicopter a person observes an object on the ground at an angle of depression
30°. If the helicopter is flying at a height of 500 m from Pf ground, then the distance
between the person and the object is "

(1) 500 m (2) 1000 m (3) 5002 n{g (4) % m

o w5 WoB e 58 GrdP) o Y 30° 3&1&6‘ 50800 &, HrDD
o8 s gh 500 b, dpd® HoGhEr 0B, 5588 ook HpHh Dy drddw

(1) 500 . (2) 1000 . () S00V2 By @) 2332 5
M
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§2  Two boys on the cither side of a temple of 45 meters height ohserve its top at the
anglcsb?f clevation 30° and 60° respectively. Find the distance between the two boys?

60 40
(1) 6043 m (2) 4043 m (3) 73- m (4) 7; m

45 5. e 8 HBD T, D wEperdd) agd trends J0° oo 60° MgsEores’
Do, © 28D wrend HYg Erdo Jod?

40
(1) 6043 & @) 4043 b, 3) % 5. @ 7 5.

S3 Two dice are thrown at the same time. What is the probability that the sum of the two -
numbers appearing on the top of the dice is 137 v
Bodh Ve 2830 E'DoSto 26A0D. Bodk FDD EXod HE o Wdo 13 wsgads
Sogrigd Jod? i

1 2 .
a1 @ 3 3 3 4) 0 !

54 One card is selected from a well-shuffled deck of 52 cards, the probability of getting
the queen of diamond is -
e 805 52 18 Sng) o $008 atrd)DSorr el SHD 8 06 Bvod ol 58

Sogrigs
n Bl 17 ik
)53 @ 3 ()'3¢ @ 5

S5 A Kiddy bank contains hundred 50 paise coins, fifty 2 1 coins, twenty T 2 coins an
ten T 5 coins. If one of the coins will fall out when the bank is turned upside dowr
what is the probability that the coin is T 5 coin?

08 84 21508 der )6 506 50 o0 Biwen, arP T 1 B, 363 T2 wBdven Lok
30 TS oBaven da)ow. der )i dolBoden BRPder atrd D sorr o8 8o i
©8 T 5 oBin s5ard8 Sogrdgd Jod?

5 5 1 1
1) = byl > 1
.”9 ()ls (3)9 (4)-1..6
86 Rain fall of a town in a week is 4 cm, § cm, 12 om. 3 s
(D 4cm (2) 5 em (3) 6 cm @) 7 em B
o8 5680 1 Byl 5660 4 B0, 5 oD, 12005, 3 To.b. 6 Tod. § Ta b
 B0am 4 Tod. eavd, o8 Bedt s : |

M4md B Swd @B EWA (47,

ALY ,‘nmw e
- i gt .

e

. 5 .‘ . 2 el s~ . )
¥ = e
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57  Which of the following is not a formula for arithmetic mean?

& (800 6" woEASE HHVBGH A S0 D67

z:f.x. Y fid;
I 11 a I=ig
ol el 7
Zfi“i} S = T ]
3 + x h | 0 h
3) a [Zf. 4) 1+ 2f1—f0—f2x

~ 58 Mode of the data 9, 10, 19, 7, 11, 5. 6. 7. 8, 14, 10, 7, 6 is
9.10,19, 7, 11, 5, 6, 7, 8, 14, 10, 7, 6 &3 &erodo @Bn&y, erdroefsin
(1) 6 ) 7 (3) 10 4) 19

59 In a grouped frequency distribution, the formula to find median is
SBE)8 g Deraards, DesgHSs (S

§+cf g""cf
N I+ x h R x h
b E i E 4

n n

_—Cf _"—Cf
@) 1+| 24— |xh @) 1-|2 < h

i Ji

The median of 75, 21, 56, 36, 81, 05 and 42 is
75, 21, 56, 36, 81, 05 DB 42 © HeHE
(1) 36 (2) 42 (3) 56 @) 21

SPACE FOR ROUGH WORK / 9 308 Seravoswds dodn
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66 A light ray passing along principal axis of a lens is i
(1) Deviated (2) Reflected (3) Refracted (4) Undeviated

808 (dorargo Bowd (Harrdod 5708 8dman

(1) Do oD (2) Bors8H0 Bochd (3) Hbesve Bowd (4) oo Posd
57 In which one among the following cases the convex lens does not give a real image?
(1) When the object is between focal point and optic centre

(2) When the object is beyond the centre of curvature

(3) When the object is between the centre of curvature and focal point
(4) None

& 800 9 088)06" Hors S Lo Jes (HBDowo WHYEH?
(1) = SHdam S&8 &8 So|Bo WeE HSVH® SoDEIPE
(2) so8 HSeSoBod wdde SHPD GoVHHPE

(3) HSeSodo oA TP WEG HHYH® S0V P

(4) 28 s=»

A convex lens kept in a medium with refractive index less than the refractive index
of the lens behaves like

(1) diverging lens (2) converging lens

(3) plane mirror (4) concave mirror

Dogrss S5 oD HEDSS heoo Somy S%)B HESSS heEo Ko ardEos® eoDKHPE
©0 B B N Dod?

(1) Bobssem ser¥o (2) Bo|B86m S&r80

(3) e s6ywo (4) Ders=6 &80

The focal length of double concave lens having refractive index 1.5 kept in air with
two spherical surfaces of radii Ry =20 cm and R, =80 cm is
(1) =16 cm (2) 24 cm (3) 32 em (4) 48 cm

s 3555 msan 1= 1.5 M fo BgYErss Shko mS® doswdie. & Sbso B,
Ood> S|gdere Sie° argdrgren SGI™ R} =20 o.d. 060 R, =80 %o.d.
©ond, 868 550860 Jod?

(1) —16 =0.5. (2) =24 20.2. (3) 32 20.%. (4) —48 0.2.
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L

DLYCET-2024—A | 15 [PT.O.

-
Qcollegeduma%
India’s largest Student Review Platform

~



70 The formula for refractive index of a prism is )31

B HESSS HpERBG Sr(SH

«(9 (2
el - ot
w0 A+D
-2 o -t

7

71 distance of distinct vision of a healthy person is
(1)¢25 mm ) 25 em (3) 25 m . (@) 25km
0TS LrEHIB Sy Sy € Erdin i
(1) A5 2.5 2) 25 20.5. 3) 25 .

72 The focal length of a lens having power 4D is

(1) 5 cm (2) 15 cm (3) 10 cm
: :"98" 4D ®ond, 808 Fyrgodsin
| mg 20.2. (2) 15 0. (3) 10 0.5

73 Thédllefect in eye vision that people cannot see objects at lc
(1 etropia  (2) presbyopia (3) myopia

808" &%) HoPeod Irddd so83 hmw .
() bge Q) Segssn  (3) ERgENR

74 of an eye lens to adjust its_'fbéal- l

B OGS (HBDowo 63 dgore E6E
() Bpes Q) sew

r e
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7§  The appearance of red colour of the Sun during Sunrise and Sunset is due 1o

(1) [?ispcrsion of light (2) Scattering of light
(3) Total internal reflection (4) None
rofgsano, Arorgion SHared® rhgd XY SRoDHEDH S Eed0
(1) s~08 Jgdwo (2) sr0d HBEIW0
(3) JOYPrTross JorEHO (4) Db s
)
76 The S.I. unit of electrical resistance is E:::
(1) ampere (2) volt (3) faradu'; (4) ohm
g8 36' o By S.I. e e
(1) wodanb ) & (3) >cb (4) &S
77 Formula for specific resistance is E;
285 '8 A c.';
L
R _LA _ IRy, ...
i) P @)= ) P=7n AN

78 The current in a conductor is directly proportional to the potential difference between

its ends at constant temperature. This is known as
(1) Faraday's law  (2) Kirchhoff's law (3) Ohm'g;aw

208 SIS S o8 irE0dtd Dbgh [Edrin, ird 36 Dide HEgHO >BINS P8
O

o0& iroIrdos’ dodkD. W & VDO Votrd. | .
(1) 68 dovdaw  (2) 8605 davDdw (3) L&D DaHdn

(4) Newton's law

(4) HrgedS AoHRE

79  Kirchhoffs junction law is based on conservation of

(1) energy (2) momentum
(4) anguldr momentum

0087

(3) charge
8BS 22085 dovdn o T o°® gD O
(1) 48 (2) @i
(3) eBdw (4) Sdan (SigBsE0

SPACE FOR ROUGH WORK / 98 298 férovosnd goiy
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80 Calculate the resultant resistance in the following circuit. i &

& 1800 doonod® P& G0 Jod?
4Q
: 7Q
12Q
I; £«
'V PR
m 3Q (2) 10Q (3) 130 4) 710
81 The instrument to measure potential difference is _: ol
(1) Ammeter (2) Voltmeter (3) Galvanometer (4) Wattmeter
B0S Bord) TV H086HY "o it i o
(1) odeb (2) SEwes () mogwhes  (4) wEbeb

82 The tangent drawn to the magnetic field line at a point gives
(1) magnetic flux (2) current
~ (3) direction of the magnetic field ~ (4) charge

.mwﬁamwmawhmaygﬁunmmga@

(1) o) od edoririn (2) deiogB m-a-a» __ﬁ-':."-;-; = |
(3) wosdyo8 s 08 (4) -ﬂ&o -
83 'B:mﬂmpassmgﬂnoughmutmtakcn
 field is called

(1) Magnetic flux density
(3) Magnetic field

e
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84  The direction of the magnetic field lines outside the current carrying solenoid is from

(1) South to North T (2) North to South
(3) East to West ok (4) West to East
g8 @) FHOand A0 wanarg o8 webpe 6F D By Aotrod?
(1) &8wo Hod adso ,- 'f (2) 6860 o8 cieo
(3) drco) o8 BEHE K (4) mg#:w &rdd)
85 In clectric motors : :

(1) Electrical energy is eonverted into mechanical energy
(2) Mechanical energy is oonverted into electrical energy
(3) Electrical energy is conven'ted into light energy;.,
(4) Mechanical energy is converted into light energy

ik
R e .

gl Trerbos® ;:;

(1) 56gB 8 AR miieosce. 2!

(2) a0 48, deogB 48 Sr&08

() g8 48, w08 4o Srobon A

(4) osro@s 48, 508 48 &-d:::oﬁ | ,
s b

86 Which law states "the mduced@i:ment"set up in lhe'doxl is in s

opposes the changes in the flux"? *"i; 1‘

(1) Kirchhoff's law Rt _,_‘,5.',": (2) Lenz's Iaw Y S
(3) Coulomb's law ~ (4) Ohmislaw =
? doH®vo (Hs o aom»q fm?a U pded L

m&oa.ooa-oo'wgm
(1) 865r% Do
(3) grarod DoHddn
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87 Induction stove works on the principle of 142

 (4) AC 8504 0ot Ditrmos Boaes drdh) 06008

(1) Magnetic induction (2) Electrostatic induction

(3) Electromagnetic induction (4) Electric shock

ROAES 35 D Jav®Hod N Bod?

(1) @anyo8 (4o (2) 36 g (0w o
(3) bogB wandy o8 (How (4) Debogh srdo e

A conductor of length 'I' is moving perpendicular to magnetic field 'B' w:th
'v'. The motional emf is given by - B
I daPhe ko, B wavdyos Jewd8 eovorr V' 308 s&w&::lo >

Dy 8B WD Ddoga o 2e0'

Bl
(1) Blv (2) BVl (3) E 4) o

The magnetic force exerted on a 3 m length conductor carrying 2A cui s
placed in a uniform magnetic field 0.4 T at an angle 30° is LAY

3 . aP, 2A Aiogh Firan fo 8 6D 0.4T @ahr)od wdordr JolE: il

846 30° E008" a0 P, ©@ KD Senis Babwdd woHr) 08 §|8 weo
(1) 12N @) 12N 3) 24 N 4) 24N

Which one of the following statements is correct?

(1) AC changes its magnitude but not direction
(2) DC changes its magnitude and direction
(3) DC changes its direction only

(4) AC changes both its magnitude and direction

& (B0 adgudd rerged’ D6 BBGHB?

(1) AC 85 20ireini SriEd sréHyHotod 5 B s°ch
(2) DC &5 84 H00% Siraron trdybotvod

(3_) DC &5 b#% drad Eré Hotnos

~



SECTION - C : CHEMISTRY (6a0% 3°%a»)
s e et ed in a
91 What is the symbol used in a chemical equation to represent the gas evolv

(1) - Q) < OR @ L
2 Volume occupied by 10 BOfMO,scnatSTPm litres is
STP &6 10 (o= mdaﬁqmbmmm R
(1) 224 (2) nﬂ S OR (4) 22.
3 Quantum mechanical model of atom was d:veloped by
(1) Neils Bohr S (2) Sommerfeld
(3) Erwin Schrodinger (4 Rutherford
s*got0 arrold S SrT® (3360 O
(1) &) &6 (2) FBBS |
(3) sogS@dos6 @ e :
Maximum no. of electrons in a«sub shell is equal to - : }‘g
(&:ﬁ;“ | 'z?,z Sl an@3) 21+ 1) @) 20+1 |
Number of unpaired electrons resent i carbon atom wg%"

$6\5 SEsraPS’ 6) 20D JOFIVO 38
(1)'): 7 (D) AT S R (3) 3 @2

: > fnl -”'Lk?‘? % '_\,;}‘ P .'.'
Law of octaves was pmposed

(1) Dobereiner (2) Moddq« g (3) Mendeleef_,l_',-.
(1) obss @) &"ﬁ | 3) 3)06&5

Numbaofeummmmmmﬂ\pmod
mm&ﬁnﬁw»w_ P
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98  Which one of the following atom is smaller in size ?

& (800 IS* $%) S JoIrwo g0 HEErY) DB ?
(1) F 2) O (3) N

L™ .
99 lonisation energy along a period from left to right generally
(1) increases (2) decreasesg (3) remains same

andsse 18 doanss* Jd wod wg DEY Fgrdworr
(1) 0D (2) S (3) &rded

100 Element with atomic number 17 bélongs to

™ .
(1) VI A group, 2™ period ¢y (2) VIIA group, 2nd per.lod
(3) V1 A group, 3" period g (4) VII A group, 3™ period

DEDre Jowg 17 o Srefo 838 ot

(1) VIA e, 2 % boass (2) VI A [&rd, 2 & 50008
(3) VI A &9, 3 % D0and [« (4) VIIA 50, 3 & Hoansd

™)

101 Oxygen gains electrons @-i.ng the chemical changes.
el a5 s3abs SrEH\HSML s ! JOSPIDOD (K0S,
AL A SPPATL o L ot i

m1 () 2 (3) 3

102 Number of bond pairs and lone pairs in the valence shell of nitroge'n in NE

NH; 6% 36'5 erivg $46° ot w06 001 20bd JogsS moben

(1) 2,2 2)1,3 " & 03)34 4) 4,0
103 Bond angle in BeCly molecule is 1)

BeCl, eanHhé® wog Sotn

(1) 120° (2) 1800 (@ 1028

W

~
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L
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(4) none of _-

A
s

(4) w308 o

4) 4
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104 lonic bond is formed due to transfer of electrons from

(1) metal atom to non-metal atom

(2) non-metal atom to metal atom

(3) non-metal atom to non-metal atom
(4) metal atom to metal atom

@08 20G0 M DEE JOF 9 WG o 8 W
(1) &% HBErmP Hod B&'F SSEraHH

(2) o' HSErmY wod 65 HErmHDH

(3) @&'s PP o8 Vs > HErHDH
(4) &5 MdrmP Dod &°F HErHD

Polar covalent bond present in
&y 888 Hodlredad wogo Sebd

(1) NaCl (2) N, (3) Na,O (4) HCI
Double bond present in

6§ 2060 S0d

(1) H, (2) HCI (3) N, 4) O,
The colour of methyl orange indicator in basic solution is

(1) Yellow (2) Green (3) Orange (4) Red
56 |dered’ BPS wbof rdE Ay Sord

(1) 5 (2) eHS) (3) wdos (4) XD

The reaction of an acid with a base to give a salt and water is known as

(1) Oxidation (2) Reduction (3) Neutralization (4) Combustion

S 608" w0 $65 wbb o) DbaK M 66V 36y

(1) e8ys86m0 (2) Bovsd00 (3) éeafgsd‘ao (4) &S0

Which one of the following is used for disinfecting drinking water?
(2) Bleaching powder

(1) Baking soda
(4) Plaster of paris

(3) Washing soda
e D640 (Bwed HosrBoSardB (BB OST AHArHOBS J67?
(2) Dok 2rdb

(1) B8oh o
(4) 36 ud >0OS

(3) o20h da
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111

112

113

114

115

The process of dissolvin acid or base in water is . o
el 2 (2) EndothermiC process

1) Exothermi
:3; 1‘\“;.!!!1!11s.1:::onp‘m‘esS (4) None of the above
e3rd) 8o gomd) d6° $8n0d (B BaD
(1) a5~38 Sog (2) aRrrs S8
(3) Sedsde S63 @) W s

The metal that occars in the free form (native) is

25)86° %oawafgqms &rdw ,

()P @2 Au (3) Fe (@) Hg

Galena is an ore oimg

abe o0 By &Y

(1) Al (2) Pb (3) Hg (4) Zn
e

In smelting the ore(i§

(1) Oxidized (o] (2) Neutralized

(3) Reduced W (4) None of these

priosod’ odHY t‘n‘ ;

(1) ek stosedb&od (2) .wgsooma:oa !

(3) ScurstoswdkEod (4) b s
£

The hydrowbonsgnmmmg only single bonds between carbon atoms

(1) Alkanes 2) Alkenes (3) Alkynes (4) Benzene

5°6)S S6SraPo 9% wogreD SrED $00 408 PE SE)RoD _ ¢

(1) o5 2) ey (3) sgy® (4) BodS

Which one of the following is a ketone?

& (800 &6 85°5 26?
Qo

0 @O

i Ty’
(1) CH;—C-CH; #2) CH;-O-CH; (3) CH;-CH,OH (4) CH;—CE

SPACE FOR ROUGH WORK / 2& 328 Séravosodd deodw
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117

'_118

119

20

If the hydrogen atom of ~COOH gets replaced by 'R' (alkyl group) ___are

obtained.

(1) Acids (2) Esters (3) Ketones (4) Amines

COOH 6% (88 sssrmPH ke R' (886 ((rd)d 98858 S ow.
(1) wSren (2) HBew (3) 8&*%en C: (4) oD

\&

The number of sigma and = -bonds in ethyne molecule : u..;

(1) 1 sigma, Im  (2) 2sigma, 2rn  (3) 2 sigma, In  (4) 3 sigma, 27

o) oPS™D iy LB T - wogre Jowg P

) 1o ln ()2 dwp2n ()2 wmp In. (4) 3wy 2n
\O

The process of conversion of starches and sugars to CzHéﬁH is called

(1) Combustion (2) Hydrolysis (3) Fermentation  (4) Esterification

Bod Sorgren HbaKy I8 Sod aBS wep S e &r0) (HBAD p.

(¥

(1) a0 (2) =oJFe (3) Smg@iBan = (4) IPOIBAS
\O
W

Which of the following is an unsaturated compound?

8o 36" @0y S Tho 267

(1) CHy (2) CH; —CHjpw

(3) CH; - CH=CH, (4) CH3— CH282H3
e

The final compound formed when methane react with chloﬂae in presence of sunlight
is

régsrod Sgod §058° HBS 367 BONRIPD D68 6 ;ﬁﬂ#ﬁm

(2) CH,Cl, (3) CHCly g} (4) CCly

\0

(1) CH;Cl

DLYCET-2024—A ]
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122

123

SECTION - D : BIOLOGY (5a°93w)

Which test is performed to identify the presence of starch in leaves?
(1) Picric acid test (2) lodine test

(3) Nessler's test (4) None of the above
oHos* Hod Sargry A8 Ig0oHLH ) HBE whiwE?

(1) N8E ep 28% (2) ©@raS HBE

(3) 6y 2By (4) 26 s

In the mouth, the crushed food mixed with saliva which forms a slippery lump:
called? E
(1) Bolus (2) Chyme

(3) Peptones (4) None of the above

F86* 2y enrr Bavwdd vFdo eromwod’ O Samr, DM 2rhE VT M

Srge) JHoHH?
(1) &S 2) 3>
(3) D (4) 286 s

Which of the following statement is true? v
(1) Chlorophyll 'a' is bluish green in colour and Chlorophyll 'b' is yellowish green

colour
(2) Chlorophyll 'a' is black in colour and Chlorophyll 'b' is grey in colour

(3) Chlorophyll 'a' is yellowish green in colour and Chlorophyll 'b' is bluish gre

colour
(4) Both Chlorophyll 'a' and Chlorophyll 'b' are white in colour

(Bod rdS° DB HOGH TrEgin? -.
(1) §6°%8S - 'a' 3 o5 5o Dok FES - b’ S0 LHss) Kos* S0,

(2) E6°S - 'a' Bevd) 5606 oo FE'VS - 'b' Siar $506* dod.
(3) E'6"S - 'a' 5P 6HHS) S0 LB §'6*S - 'b' DO BHHSY Hos® am
(4) §6°%5 - '2' Hoam 6 - 'b' Boch Bewy 3806° B0k, 3
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126

Choose the correct sequence of steps in Respiration.

(1) Breathing — Gaseous exchange at lungs level — Gas transport by blood —
Gascous exchange at tissue level — Cellular Respiration

(2) Breathing — Gas transport by blood — Gaseous exchange at lungs level —
Gaseous exchange at tissue level — Cellular Respiration

(3) Gaseous exchange at lungs level — Breathing — Gas transport by blood —
Gaseous echange at tissue level — Cellular Respiration

(4) Cellular Respiration — Gaseous exchange at lungs level — Gas transport by
blood — Gaseous exchange at tissue devel — Breathing

g (Bans® J0ELD NG dde 1SB0D HBoES.
(1) de)gRdwgdren — 208 0é" Tra .‘i:‘baé — 650 orgo” ot Sare — ererd®

ot 37078 — € F g8 !
(2) T )8R gren — B0 argo° Tk e — #1208 es® sratn &ro)d — broererd®

o &r8)8 — Se FgHY8a0 [
(3) a208&eS" Trath Lro)d — TR JFERen - 880 orgo° Frakh S — eoemerd®
Tal 08 — Se FHBan :k:
(4) 8o wgJBad— magod‘ araXn :n'p‘j&-—y 880 @rgo° o Earer — 8

Ta &r0)8 - AE)EN 7o en W)

asvv"g*

Each ATP molecule gives how much of energy?

(1) 8700 calories  (2) 10800 calories p) 7200 calories  (4) 10000 calories

) ATP&* do& 4_5‘ 3(’)5 aotyod? "
(1) 8700 scoben (2) 10800 sreden ‘(3) 7200 sceben (4) 10000 sreden
0

C¢H 504 + 60, — 6CO, + 6H,0 + Energyi This equation summarizes which process?
(1) Excretion i(2) Respiration

(3) Photosynthesis (4) Digestion
CeH 206 + 60, — 6CO, + 6Hy0 + 48, & 286mo B {rdpod?

(2) wg9(8ak

(1) ;g8 (8o
(4) #58an

(3) Bomasnsy dodrd 8ok

The yellowish straw colored fluid portior‘\flhal forms after the blood clot is called
3]

(1) Plasm (2) Fibrin @) Serum (4) Thrombin

¢80 dgé%% SGard DADD 48 HYBord (&) ®otrd.

(1) & (2) DS (3) &do (4) |@0dS
En..

SPACE FOR ROUGH WORK 55"*‘-’ 498 Serovosndd Hoin
ot
0
Ty
(¥3)
LYCET-2024—A | 27 [PT.O.

k2
gcollegedunlas
L India’s largest Student Review Platform

-~



ryo sac consisting of .

140 Majority of flowering plants have an emb ¥
(2) 8 cells and 8 nuclei

(1) 7 cells and 8 nuclei _
(3) 7 cells and 7 nuclei (4) 5 cells and 4 nuclei

e HRYoB W & dods o derdwor EON dotran.
(1) 7 Soren DO 8 'oo@;-m (2) 8 Seren HOOW 8 Bo|sren
(3) 7 Swren oA 7 SoEsen (4) § Eren wdatH 4 Boseew

| .
141 The correct order of passage of spermatozoa Is :
(1) Seminiferous tubules | — Vasa efferentia —

Urethra wt : ' b
(2) Seminiferous tubules — Epididymis — Vasa efferentia — Ejaculatory duct

Epididymis — Ejaculatory d 1

Urethra s _.',
(3) Seminiferous tubules — Ejaculatory duct — Vasa efferentia — Epndldym_in_-a_..
Urethra 1 ,
(4) Seminiferous tubules - Ejaculatory duct — Vasa efferentia — Urethra -
Epididgmis . &
20 HgEEre Batre ango 267 b

(1) HFe B8 8 - HETsn > RBBVS Hod o @heo

(2) HE'e B8 TV - BBB1I— HETDEen — T od T¥o— (B0
(3) HEe B8 TV — Hod ¥ HlETVEen > RAADE— (B0
(4) BiF'eryss w08 — o8 Yo DETPE Fhio— RABDS

142 The walls of the food pi ) -:secretes a slippery substance called

(1) Amylase (2) Lipase (3) Mucus (4) Bolus

ooy B wderdid thuorie SO gl Do, 3
ally digested food (chyme) is released into j
- intestine  (3) Small intestine (4) Rectum 3

. LI

._". .1|
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129

130

131

132

What is the name of the valve present on the right Auriculo-Ventricular septum b
right atrium and right ventricle called? &
(1) Tricuspid valve (2) Bicuspid valve (3) Mitral valve  (4) Pulmonary valve

D8 055 HB BEOEH HEgHO HA K08 BEOS 0SS DreinD Ko ETErd) baaoerm-
(1) oE@as seo  (2) wigos soeo (3) DS soeo  (4) YYD G &

Regarding blood pressure, what is the systolic pressure in a healthy young adult?

(1) 80 mm of Hg (2) 20 mm of Hg | Ey
(3) 100 mm of Hg (4) 120 mm of Hg
85 23728 Sowodod uEirighodBs avdBarshed® D8 Mto Jod dotwod?
(1) 80 2.5, 2665 Sesdo (2) 20 2.5, &6 Sxsso ,
(3) 100 D.&. 363 dxsso (4) 120 .. >80 Sxfido F
Evaporation of water through leaves is called?

(1) Respiration (2) Transpiration  (3) Transportation (4) Circulation
HEro oD A I ErHod® D8 orard) DDoWEH?

(1) =gy8avs (2) ¥y8y%o (3) Gores (4) (e
Deficiency of Vasopressin causes excessive dilute urination. This condition is ca.l
(1) Diabetes mellitus (2) Diabetes insipidus

(3) Scurvy (4) Beri beri : " -
THERS 60 Jod S8y D MES Ko Barigo @S0 MVoSdL. & B WoH&?
(1) Bandes DYS (2) dorrBesS adYEH E
(3) 383 (4) @6 o 5
The maximum urine storage capacity of unnary bladder is ) a,

(1) 2000-3000 ml. | (z) 50-100 ml,
(3) 10000-20w0m!'w.'_ T

) & .
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134 Which of the following poisonous, nitrogenous byproducts are stored in different parts

of the plants?
(1) Tannins (2) Resins (3) Alkaloids (4) Latex

808 &6° W& 06°D 23S rred® Jogdated YSadans, EiPoSDH Gd6E ) e
27

|
z
E
5

(1) &dSen (2) B&Se» (3) weoperand  (4) B836)

135 is an endocrine gland, secretes the hormones insulin and glucagon.
(1) Thyroid (2) Adrenal (3) Ovary (4) Pancreas
59105 Hoa (rErS ob FE 50 o3 I |fod (DDoHD.

(1) Borawb (2) o838 (3) & butido (4) $mo
136 causes ripening of fruits.
: (1) Ethylene (2) Auxins (3) Cytokinins (4) Gibberellins
S0 doren 35°gI8 JH)D.
(1) =885 (2) ©8)S) (3) 253K (4) 22)805)

137 Roots grow downwards, plants respond positively for gravitational force. What is this

called?
(1) Phototropism  (2) Geotropism (3) Hydrotropism (4) Thigmotropism

30 2rd 3 Db&08, I en HHEgEcE 2o T PB0BToL. 63 dPotH&H?
(1) =08 o235 (2) Moegdssso (3) DB onsss0  (4) dom)Bdso

38 bacteria is responsible for the formation of curd from milk.
(2) Lactobacillus

(1) Bacillus thuringiensis
(3) Pseudomonas (4) Xanthomonas
Food DM Sarcseds _ wrBtat 84 d&od.
(1) oS &H00ZND (2) o'g‘u-bgs
(3) >8>S  (4) o8NS

Examples of propagation by stem are :
(1) Stolons and runners (2) Bulbs and corms
(3) Rhizome and tuber (4) All of the above

O e i e L
(1) Fop Do 656 _ _ (2) vdbaren HBoH Bodo : _
() Faw) Sboto Godsodo () e B
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145 The number of allosomes in human cell are ;
arssémod’ Bons EarE e (allosomes) dowg -

(1) 2 ) 4 (3) 23 (4) 46
146 Change in the frequency of genes in small populations is called .
(1) Variation (2) Mutation (3) Genetic drift (4) Evolution
2%) mrpred® ey sorr Sogidod Soéxe DSorr BIHE DoPigos” Ardh)en
adgda'al ®0drd.
(1) Dsgo (2) 06 (3) =g S0 (4) 20O
147 Occurence of vestigial organs abruptly in human beings is called ¢
(1) Atavism (2) Dwarfism (3) Regeneration (4) Mutation
Srsged’ ss>Sm eS8 stabTe 300 SRoSad) ©otrd.
(4) 20368

(1) e&deo 2) doowsso  (3) DS

148 The process of entry of pollutants into a food chain is known as
(2) Bioaccumulation

(1) Restoration

3) Biomagnification (4) Food web
SFED Ferd” sendrgey B8y ©oerd.

(1) pogoe () 228 e
(3) B2S H)bsoe (4) o B0

49 Seeds from plants are used for the production of biofuel.

(1) Jatropha (2) Chrysanthemum (3) Hibiscus (4) Cuscuta
Ay Ay MTOD TEed.

&5 mocdo 6888

(1) =8> (2) ordod (3) docd (4) svpger 54
) Coal. Petroleum (oil) and Natural Gas belongs to which type of fuels? : i

(1) Chemical fuels | (2) Bio fuels '

(3) Sunlight (4) Fossil fuels

&0, u&mmmwbwmmm7

(1) Gands sOGTe (2) &5 mogres

(3) drogsod (4) Sere aogarey
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